

Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

A New Subclass of Meromorphic Multivalent Close-to-Convex Functions Associated with Janowski Functions

Muhammad Arifa, Mohsan Razab, Bakhtiar Ahmada

^aDepartment of Mathematics, Abdul Wali Khan University Mardan, 23200 Mardan, Pakistan ^bDepartment of Mathematics, Govt. College University, Faisalabad, Pakistan

Abstract. The aim of this paper is to introduce a new subclass of meromorphic multivalent close-to-convex functions and to study some interesting properties such as coefficient estimates, inclusion relationship, radius problem and sufficiency criteria for this newly defined class.

1. Introduction

Let \sum_p denote the class of functions f(z) which are meromorphic and p-valent in the region $\mathbb{U} = \{z \in \mathbb{C} : 0 < |z| < 1\}$ and normalized by

$$f(z) = \frac{1}{z^p} + \sum_{k=1}^{\infty} a_{k+p} z^{k+p}, \quad (z \in \mathbb{U}).$$
 (1.1)

We note that $\Sigma_1 = \Sigma$ the usual class of meromorphic functions. Also let $\mathcal{MS}^*(\alpha)$ and $\mathcal{MK}(\alpha)$ denote the classes of meromorphic starlike and meromorphic close-to-convex functions of order α respectively. For two functions f(z) and g(z) analytic in \mathbb{U} , we say that f(z) is subordinate to g(z), denoted by f(z) < g(z), if there is an analytic function w(z) with $|w(z)| \le |z|$ and w(0) = 0 such that f(z) = g(w(z)). If g(z) is univalent, then f(z) < g(z) if and only if f(0) = g(0) and $f(\mathbb{U}) \subseteq g(\mathbb{U})$.

In 2008, Srivastava et al. [6] (see also [1, 7]) studied the class of meromorphic starlike functions with respect to symmetric points, denoted by \mathcal{MS}_s^* and is defined by

$$\mathcal{MS}_{s}^{*} = \left\{ f(z) \in \sum : -\frac{2zf'(z)}{f(z) - f(-z)} < \frac{1+z}{1-z}, \ (z \in \mathbb{U}) \right\}.$$
 (1.2)

One can easily obtain that the function (f(z) - f(-z))/2 is meromorphic starlike in $\mathbb U$ and therefore the functions given in (1.2) are meromorphic close-to-convex. Later Wang et al. [8] introduced a class \mathcal{MK}_s of meromorphic close-to-convex functions; a function $f(z) \in \Sigma$ belongs to the class \mathcal{MK}_s if it satisfies the inequality

$$\frac{f'(z)}{g(z)g\left(-z\right)} < \frac{1+z}{1-z}, \text{ for some } g\left(z\right) \in \mathcal{MS}^*\left(\frac{1}{2}\right).$$

2010 Mathematics Subject Classification. Primary 30C45,30C10; Secondary 47B38

Keywords. Meromorphic multivalent functions, Starlike functions, Close-to-convex functions, Janowski functions, Subordination Received: 15 June 2014; Accepted: 12 August 2014

Communicated by Hari M. Srivastava

Email addresses: marifmaths@hotmail.com (Muhammad Arif), mohsan976@yahoo.com (Mohsan Raza), bakhtiarbacha@yahoo.com (Bakhtiar Ahmad)

Sim and Kwon [4] used the concept of Janowski function and introduced a subclass $\mathcal{MK}_s[A, B]$, $-1 \le B < A \le 1$. This class of functions is defined as

$$\mathcal{MK}_{s}\left[A,B\right] = \left\{f\left(z\right) \in \sum : \frac{f'(z)}{g(z)g\left(-z\right)} < \frac{1+Az}{1+Bz}, \text{ for } g\left(z\right) \in \mathcal{MS}^{*}\left(\frac{1}{2}\right)\right\}.$$

More recently, Amit and Shashi [5] extend the class $\mathcal{MK}_s[A,B]$ by introducing the class $\mathcal{MK}_s[t,A,B]$ as follows; a function $f(z) \in \Sigma$ is said to be in the class $\mathcal{MK}_s[t,A,B]$ with $0 < |t| \le 1$, if there exists $g(z) \in \mathcal{MS}^*\left(\frac{1}{2}\right)$ such that

$$\frac{-f'(z)}{tq(z)q(tz)} < \frac{1+Az}{1+Bz}, \ (z \in \mathbb{U}).$$

Motivated from the above work, we introduce a subclass of *p*-valent meromorphic functions by using the techniques of subordination as follows;

Definition 1.1. Let $f(z) \in \sum_p$. Then $f(z) \in \mathcal{MK}_p(t, \lambda, \alpha, A, B)$, $(|t| \le 1 \text{ with } t \ne 0, -1 \le B < A \le 1, 0 \le \alpha < p \text{ and } \lambda \in [0, 1])$, if it satisfies

$$\frac{-z^{1-p}F_{\lambda}'(z)}{t^{p}g(z)g(tz)} < \frac{p + [pB + (A-B)(p-\alpha)]z}{1 + Bz}$$
(1.3)

for some $g(z) \in \mathcal{MS}_p^*(\frac{1}{2})$ and $F_{\lambda}(z)$ is defined by

$$F_{\lambda}(z) = (1 - \lambda) f(z) - \frac{\lambda}{p} z f'(z). \tag{1.4}$$

By simple computation, we can easily obtain that (1.3) is equivalent to

$$\left|\frac{-z^{1-p}F_{\lambda}'(z)}{t^pg(z)g(tz)}+p\right|<\left|B\left(\frac{-z^{1-p}F_{\lambda}'(z)}{t^pg(z)g(tz)}\right)+pB+(A-B)\left(p-\alpha\right)\right|.$$

In this paper we discuss some useful results including coefficient estimate, sufficiency criteria, distortion problems and inclusion relationship for the functions belonging to the class defined in (1.3).

To avoid repetition, we shall assume, unless otherwise stated, that $|t| \le 1$ with $t \ne 0, -1 \le B < A \le 1$, $0 \le \alpha < p, p \in \mathbb{N}$ and $\lambda \in [0, 1]$.

For our main results we need the following lemma.

Lemma 1.2. [2] Let $-1 \le B_1 \le B_2 < A_2 \le A_1 \le 1$. Then

$$\frac{1+A_2z}{1+B_2z}<\frac{1+A_1z}{1+B_1z}.$$

2. Some Properties of the Class $\mathcal{MK}_p(t, \lambda, \alpha, A, B)$.

Theorem 2.1. Let $g_i(z) \in \mathcal{MS}_p^*(\alpha_i)$ with $0 \le \alpha_1 + \alpha_2 - 1 < 1$. Then

$$t_1^p t_2^p z^p g_1(t_1 z) g_2(t_2 z) \in \mathcal{MS}_p^*(\gamma),$$

where $\gamma = \alpha_1 + \alpha_2 - 1$ and $0 < |t_i| \le 1$ for i = 1, 2.

Proof. Let $g(z) \in \mathcal{MS}_p^*(\alpha_i)$. Then by definition we have

$$Re\frac{t_izg_i'(t_iz)}{pg_i(t_iz)} < -\alpha_i.$$

Now let

$$G(z) = t_1^p t_2^p z^p g_1(t_1 z) g_2(t_2 z).$$

Then one can easily obtain that

$$\frac{zG'(z)}{G(z)} = p + \frac{t_1 z g_1'(t_1 z)}{g_1(t_1 z)} + \frac{t_2 z g_2'(t_2 z)}{g_2(t_2 z)}.$$

It follows that

$$Re\frac{zG'(z)}{G(z)} = p + Re\frac{t_1zg_1'(t_1z)}{g_1(t_1z)} + Re\frac{t_2zg_2'(t_2z)}{g_2(t_2z)} < -(\alpha_1 + \alpha_2 - 1)p = -\gamma p.$$

By noting that $0 \le \alpha_1 + \alpha_2 - 1 < 1$, which implies that $G(z) \in \mathcal{MS}_p^*(\gamma)$, it completes the proof of Theorem. \square

Corollary 2.2. If $g(z) \in \mathcal{MS}_p^*\left(\frac{1}{2}\right)$ and 0 < |t| < 1, then

$$t^p z^p g(z) g(tz) \in \mathcal{MS}_n^*$$

Theorem 2.3. *If* $-1 \le B_2 \le B_1 < A_1 \le A_2 \le 1$, then

$$\mathcal{MK}_p(t,\lambda,\alpha,A_1,B_1) \subset \mathcal{MK}_p(t,\lambda,\alpha,A_2,B_2).$$

Proof. Let us suppose that $f(z) \in \mathcal{MK}_p(t, \lambda, \alpha, A_1, B_1)$. Then

$$\frac{-z^{1-p}F_{\lambda}'(z)}{pt^{p}g(z)g(tz)} < \frac{1 + [(1 - \alpha/p)A_{1} + (\alpha/p)B_{1}]z}{1 + B_{1}z}.$$
(2.1)

Now if $C_1 = (1 - \alpha/p) A_1 + (\alpha/p) B_1$ and $C_2 = (1 - \alpha/p) A_2 + (\alpha/p) B_2$, then $-1 \le B_1 < C_1 \le 1$ and $-1 \le B_2 < C_2 \le 1$. Therefore (2.1) can be written as

$$\frac{-z^{1-p}F'_{\lambda}(z)}{pt^{p}g(z)g(tz)} < \frac{1+C_{1}z}{1+B_{1}z},$$

and hence by using Lemma 1.2, we have

$$\frac{-z^{1-p}F'_{\lambda}(z)}{pt^pg(z)g(tz)} < \frac{1+C_1z}{1+B_1z} < \frac{1+C_2z}{1+B_2z'}$$

or, equivalently

$$\frac{z^{1-p}F_{\lambda}'(z)}{t^{p}g(z)g(tz)} < \frac{p + [(p-\alpha)A_{2} + \alpha B_{2}]z}{1 + B_{2}z},$$

which further implies that $f(z) \in \mathcal{MK}_p(t, \lambda, \alpha, A_2, B_2)$. \square

Lemma 2.4. If $g(z) \in \mathcal{MS}_p^*(1/2)$ and is of the form

$$g(z) = \frac{1}{z^p} + \sum_{n=1}^{\infty} c_{n+p} z^{n+p}, (z \in \mathbb{U}),$$

then

$$(t^{2p+1}+1)\left|c_{n+p}\right| \le \frac{2p}{n+p}.$$

and

$$c_{1+p}c_{n+p-1}t^{n-1} + c_{2+p}c_{n+p-2}t^{n-2} + \ldots + c_{n+p-1}c_{p+1}t = 0.$$

Proof. By virtue of Corollary 2.2, we have $t^p z^p g(z) g(tz) \in \mathcal{MS}_p^*$, and if

$$G(z) = t^p z^p g(z)g(tz) = \frac{1}{z^p} + \sum_{k=p+1}^{\infty} b_k z^k,$$
(2.2)

then it is well known that

$$\left|b_{p+n}\right| \le \frac{2p}{n+p}.\tag{2.3}$$

Substituting the series expanssions of G(z) and g(z) in (2.2), we get

$$t^{p}z^{p}\left(z^{p} + \sum_{k=p+1}^{\infty} c_{k}z^{k}\right)\left((tz)^{p} + \sum_{k=p+1}^{\infty} c_{k}(tz)^{k}\right) = \frac{1}{z^{p}} + \sum_{k=p+1}^{\infty} b_{k}z^{k}.$$

Comparing the coefficients of z^{n+p} and z^{n+2p} , we have

$$(t^{2p+1}+1)c_{v+n} = b_{v+n}. (2.4)$$

and

$$c_{1+p}c_{n+p-1}t^{n-1}+c_{2+p}c_{n+p-2}t^{n-2}+\cdots+c_{n+p-1}c_{p+1}t=0.$$

Putting the value from (2.3) in (2.4), we get the required result. \Box

Theorem 2.5. Let $f(z) \in \mathcal{MK}_p(t, \lambda, \alpha, A, B)$. Then

$$\left|a_{p+n}\right| \leq \frac{p\left(A-B\right)\left(p-\alpha\right)}{\left(2\lambda p+n\lambda-p\right)\left(p+n\right)} \sum_{i=1}^{n-1} \left(\frac{2p}{i+p}\right) + \frac{2p^3}{\left(2\lambda p+n\lambda-p\right)\left(p+n\right)^2}.$$

Proof. Let $f(z) \in \mathcal{MK}_p(t, \lambda, \alpha, A, B)$. Then we have

$$\frac{-zF_{\lambda}'(z)}{pG(z)} < \frac{1 + [(1 - \alpha/p)A + (\alpha/p)B]z}{1 + Bz},\tag{2.5}$$

where G(z) is given by (2.2). If we put

$$q(z) = \frac{-zF_{\lambda}'(z)}{nG(z)},\tag{2.6}$$

it follows from (2.5) that

$$q(z) = 1 + \sum_{n=1}^{\infty} d_n z^n < \frac{1 + [(1 - \alpha/p)A + (\alpha/p)B]z}{1 + Bz} = 1 + \frac{(A - B)(p - \alpha)}{p}z + \dots,$$

and by using Rogosinski result [3], we obtain

$$|d_n| \le \frac{(A-B)(p-\alpha)}{p}.\tag{2.7}$$

Now by putting the series expanssions of f(z), G(z) and g(z) in (2.6) and then comparing the coefficients of z^{n+p} , we obtain

$$\frac{1}{p} (2\lambda p + n\lambda - p) (p+n) a_{p+n} = p(b_{p+n} + d_1 b_{p+n-1} + d_2 b_{p+n-2} + \dots + d_{n-1} b_{p+1}).$$

By using (2.7), we have

$$\frac{1}{p}\left(2\lambda p+n\lambda-p\right)\left(p+n\right)\left|a_{p+n}\right|\leq\left(A-B\right)\left(p-\alpha\right)\sum_{i=1}^{n-1}\left|b_{p+i}\right|+p\left|b_{p+n}\right|$$

$$\leq (A-B)(p-\alpha)\sum_{i=1}^{n-1}\frac{2p}{i+p}+\frac{2p^2}{p+n}.$$

This completes the proof. \Box

Theorem 2.6. If $g(z) \in \mathcal{MS}_p^*\left(\frac{1}{2}\right)$ and $f(z) \in \sum_p given by (1.1)$, satisfying

$$(1+|B|)\sum_{n=1}^{\infty} (2\lambda p + n\lambda - p) (p+n) |a_{p+n}| + p(p(1+A) - (A-B)\alpha) \sum_{n=1}^{\infty} |b_{p+n}|$$

$$< p(A-B) (p-\alpha) + 2p^2(B-1), \tag{2.8}$$

then $f(z) \in \mathcal{MK}_{v}(t, \lambda, \alpha, A, B)$.

Proof. To prove that $f(z) \in \mathcal{MK}_p(t, \lambda, \alpha, A, B)$, it is enough to show that

$$\left| \frac{-\frac{zF_{\lambda}'(z)}{G(z)} + p}{pB + (A - B)(p - \alpha) - B\frac{zF_{\lambda}'(z)}{G(z)}} \right| < 1, \tag{2.9}$$

where G(z) is given by (2.2). For this consider

$$\left| \frac{-\frac{zF_{\lambda}'(z)}{G(z)} + p}{pB + (A - B)(p - \alpha) - B\frac{zF_{\lambda}'(z)}{G(z)}} \right| = \left| \frac{-zF_{\lambda}'(z) + pG(z)}{\left[pB + (A - B)(p - \alpha)\right]G(z) - BzF_{\lambda}'(z)} \right|$$

$$=\frac{\frac{2p}{z^{p}}+\sum_{n=1}^{\infty}\left(2\lambda p+n\lambda-p\right)(p+n)\frac{1}{p}a_{p+n}z^{p+n}+p\sum_{n=1}^{\infty}b_{p+n}z^{p+n}}{\frac{2pB+(A-B)(p-\alpha)}{z^{p}}+\left[pB+(A-B)(p-\alpha)\right]\sum_{n=1}^{\infty}b_{p+n}z^{p+n}+B\sum_{n=1}^{\infty}\left(2\lambda p+n\lambda-p\right)(p+n)\frac{1}{p}a_{p+n}z^{p+n}}$$

$$\leq \frac{2p+\sum_{n=1}^{\infty}\left(2\lambda p+n\lambda-p\right)\left(p+n\right)\frac{1}{p}a_{p+n}+p\sum_{n=1}^{\infty}b_{p+n}}{2pB+\left(A-B\right)\left(p-\alpha\right)-\left[pB+\left(A-B\right)\left(p-\alpha\right)\right]\sum_{n=1}^{\infty}b_{p+n}-B\sum_{n=1}^{\infty}\left(2\lambda p+n\lambda-p\right)\left(p+n\right)\frac{1}{v}a_{p+n}}.$$

Therefore by using (2.8), we get the inequality (2.9) and this end the proof. \Box

Theorem 2.7. Let $f(z) \in \mathcal{MK}_p(t, \lambda, \alpha, A, B)$. Then

$$\left(p-\frac{\left(A-B\right)\left(p-\alpha\right)}{1-Br}\right)\frac{(1-r)^{p+1}}{r^{p+1}}\leq\left|F_{\lambda}'(z)\right|\leq\left(p+\frac{\left(A-B\right)\left(p-\alpha\right)}{1-Br}\right)\frac{(1+r)^{p+1}}{r^{p+1}}.$$

This result is sharp.

Proof. Suppose that $f(z) \in \mathcal{MK}_p(t, \lambda, \alpha, A, B)$. Then we can write

$$\frac{-zF_{\lambda}'(z)}{pG(z)} < \frac{1+Dz}{1+Bz},$$

where

$$D = B + (A - B)(1 - \alpha/p).$$

then with |z| = r

$$\left| \frac{-zF_{\lambda}'(z)}{pG(z)} - \frac{1 - DBr^2}{1 - B^2r^2} \right| \le \frac{(D - B)r}{1 - B^2r^2}.$$

Simple computation gives us

$$\frac{1 - Dr}{1 - Br} \le \left| \frac{-zF_{\lambda}'(z)}{pG(z)} \right| \le \frac{1 + Dr}{1 + Br}.$$
 (2.10)

It is shown in Corollary 2.2 that $G(z) = t^p z^p g(z) g(tz) \in \mathcal{MS}_p^*$, thus we have

$$\frac{(1-r)^{p+1}}{r^p} \le |G(z)| \le \frac{(1+r)^{p+1}}{r^p}. (2.11)$$

Now by using (2.11) in (2.10), we obtain the required result. \Box

Theorem 2.8. Let $f(z) \in \mathcal{MK}_p(t, \lambda, \alpha, A, B)$. Then

$$Re\frac{\left(zf'\left(z\right)\right)'}{pG'\left(z\right)} > 0$$
, for $|z| < r$,

where r is given by

$$r = min \left[\frac{p(1+|B|)(2\lambda p + n\lambda - p)(p+n)|a_{p+n}| + p(p(1+A) - (A-B)\alpha)|b_{p+n}|}{((p+n)^2|a_{p+n}| + 2p(p+n)|b_{p+n}|)(2p(|B|-1) + (A-B)(p-\alpha))} \right]^{\frac{1}{2p+n}}.$$

Proof. Suppose $f(z) \in \mathcal{MK}_p(t, \lambda, \alpha, A, B)$, then for the required result it is enogh to prove that

$$\left| \frac{(zf'(z))'}{G'(z)} + p \right| < p,$$

and for this we only need to show that

$$\sum_{n=1}^{\infty} \left(\frac{(p+1)^2 \left| a_{p+n} \right| + 2p(p+2) \left| b_{p+n} \right|}{p^2} \right) r^{2p+n} < 1, \tag{2.15}$$

By Theorem 2.6, we have

$$\frac{(1+|B|)\sum_{n=1}^{\infty}(2\lambda p+n\lambda-p)(p+n)|a_{p+n}|+(p(1+A)-(A-B)\alpha)\sum_{n=1}^{\infty}|b_{p+n}|}{p((A-B)(p-\alpha)+2p(B-1))}\leq 1.$$
 (2.16)

Now keeping in veiw (2.16), we easily obtain (2.15) if

$$\frac{(p+1)^{2} |a_{p+n}| + 2p(p+2) |b_{p+n}|}{p^{2}} r^{2p+n}$$

$$\leq \frac{(1+|B|) (2\lambda p + n\lambda - p) (p+n) |a_{p+n}| + (p(1+A) - (A-B)\alpha) \sum_{n=1}^{\infty} |b_{p+n}|}{p((A-B) (p-\alpha) + 2p(B-1))},$$

which implies that

$$r = \min \left[\frac{p(1+|B|)(2\lambda p + n\lambda - p)(p+n)|a_{p+n}| + p(p(1+A) - (A-B)\alpha)|b_{p+n}|}{((p+n)^2|a_{p+n}| + 2p(p+n)|b_{p+n}|)(2p(|B|-1) + (A-B)(p-\alpha))} \right]^{\frac{1}{2p+n}}.$$

References

[1] R. Chandrashekar, R. M. Ali, S. K. Lee, V. Ravichandran, Convolutions of meromorphic multivalent functions with respect to n-ply points and symmetric conjugate points, Appl. Math. Comput. 218 (2011) 723-728.

[2] M. S. Liu, On a subclass of p-valent close to convex functions of type α and order β , J. Math. Study 30 (1997) 102-104 (Chinese)

[3] W. Rogosinski, On the coefficients of subordinate functions, Proc. London Math. Soc. 48 (1943) 48-82.

[4] Y. J. Sim, O. S. Kown, A subclass of meromorphic close- to-convex function of Janowski's type, Inter. J. Math. & Math. Sci. (2012), Article ID 682162,12 pages.

[5] A. Soni, S. Kant, A new subclass of meromorphic close-to-convex functions, j. complex anal. (2013), Article ID 6293941, 5 pages.

[6] H. M. Srivastava, D-G. Yang, N. Xu, Some subclasses of meromorphically multivalent functions associated with a linear operator, Appl. Math. Comput. 195 (2008) 11-23.

[7] Z-G. Wang, Y-P. Jiang, H. M. Srivastava, Some subclasses of meromorphically multivalent functions associated with the generalized hypergeometric function, Comput. Math. Appl. 57 (2009) 571-586.

[8] Z-G. Wang, Y. Sun, N. Xu, Some properties of certain meromorphic close-to-convex functions, Appl. Math. Lett. 25 (2012) 454-460.